
Orientation about how to solve Task 4, exercise set 
2.
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The point falls outside the operational map. We could use the inlet choke and 
inlet cooler to change the inlet conditions and try to move the point inside.

By choking at the inlet with DP = 30 bar and using the cooler such as 
Tsuc=20 C--------------------------------------------------------------------------->
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folk.ntnu.no/stanko/Courses/TPG4230/2018/Class_files/20180313/

Issue on the choosing of the independent variable for the 
solving process: rate might give a problem of complex numbe
if a too high value is used 
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